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(Vi) 797 PTF 21 & 23 0F TAF 097 4 & 1 & I S 120 95 &/

(vii) OTET HTaEaE & @@ s TG A T |

Instructions -

(i)  This question paper contains 23 questions. All questions are compulsory.

(i) Question No. 1 to 5 are objective type questions and the questions carry 1x30=30

marks.
(iii) Internal options are given in question number 6 to 23. -
(iv) Answer question number 6 to 17 in about 30 words each. Each question carries

2 marks.

(v) Answer question number 18 to 20 in about 75 words each. Each question carries
3 marks.

(vi) Answer question number 21 to 23 in about 120 words each. Each question carries
4 marks. . '_

(vii) Draw neat and clean labelled diagram wherever required. '
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(31) Sy @) o =1
(¥) Ao (8) S %
(M) 250°C W% 57 28 st areer A1) & —
) (8) o<
(iii) mﬁm -
&1 1 @ 2
(@) 3 @ 4

(&) e sow (@) frrears
(V) I aTE B dEwe qutar @ —

@) o @) faceme

(@) P @) siftm am
(vi) = &1 dReg FRik wvar & —

(1) macisra @) smgf

(&) amamg @) T

Choose the correct option and write -
(i) Change of solid into liquid is called -

(a) freezing (b) melting
(c} evaporation (d) boiling
(i) Physical state of water at 250°C s -
(a) solid - (b) liquid
(c) gas (d) gel
(i) Valency of sodiumis-
(a 1 | (b) 2
(c) 3 (d) 4
(iv) Which of the following is not an animal tissue?
(a) Epithelial tissue (b) Connective tissue
(c) Nervous tissue (d) Meristematic tissue
(v) Area of velocity-time graph indicates -
| (a) acceleration {b) displacement ;300
(c} initial velocity (d) final velocity %
- (vi) Pitch of the sound is determined by - _ -
(@) time period (b) frequency
"(¢) amplitude (d) wavelength
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52 R @ gy @

(1x6=8)
() 1A Y sfvs vamedt @ @i R e BT B |
W) o ST Y V& Tenp EREAHS Td ﬁv‘«‘:rlﬂiﬁ EEOE A I
{11} — 97 9&q axq B A 1 YRRy F 2 k
W)ﬂ?ﬁmarwwﬁfwﬁqﬁaﬁmhmaﬁuqﬁaﬁ ......................... '
B |
(Vi) &y wewor 3 f‘%‘m Tﬁf ATTLHA t"\ﬁ“ i’“}*
Fill in the blanks -
() Homogeneous mixture of two or more substances is called i
) e is a basic structural and functional unit of life.
(i) Forceof...................._ always opposes motion of objects.
(V) Tendency of an object to oppose the change in its moving condition
18 CAIBA. ...
(V) SIUNIt Of MaSS IS ........vocvoeeo oo
Vi) e is required for the propagation of sound.
H3 w /e fafen - (1x6=8)

() &7 I sen wie ¥ 497 R q9 T wH

(i) e v fawmid fsor gar

(ii) 0 2 &, T wda o PR g & s § R ey
gl

(iv) BTrer ol 2 @i €. ieswds 3 & o

(v} DNA & frareis @vg &1 o wed &

(vi) f&e 991 gR1 fmm T el &R yMIeT B 2

Write True/False -

(i) Tearemains hot in plate for long time than in a cup.

(i) Suspension is a heterogeneous mixture.

(i) In a compound, the elements are always present in definite
proportions by mass.

(iv) Canal rays were discovered by E. Goldstein.

(v) Functional segments of DNA are called genes. 3 I
~ (vi) Work done by any force is always positive. .
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t'.f?) I FiteR (b) o |
!" TTTHE &7 forgy i
(V) ot wgeor EZ)) gﬁqw — "
V) o e ) T
(Vl) W\TFT 3ﬁ? Cﬁvlq-qﬂw (f) aﬂﬁ,ﬂ:ﬁ@\—ﬂ

@ =

Make the correct pair -

()  Definite shape and volume

. (@) Mitochondria
(u) Powerhouse of the cell (b) Solid
(iv)  Gravitational acceleration (d) Macro nutrients
(V)  Rate of doing work (€) Power -
(vi) Nitrogen and phosphorus ()  Archimedes
| (@ =
5 TP U /qr H§ IR Aforg — ‘
_ X
() ®RE B @ ey 3 o =)
(i) 91 &1 S| 730 forfay |
(iif) ;f:;?amﬁaﬁaﬁaﬁﬁwﬁﬂﬁﬁmﬁ?ﬁﬁmw@ﬂm
(iv) #9 &7 denf e M fRifee |
(v) 9 & &9 & Haal WwE fha 2 2
(Vi) BueT RN ey o B3 ga fafy forfag |
Answer in one word/sentence -
(i) Who discovered cell?
(i) Write the Sl unit of force.
(ili) Two obijects of different masses are moving with the same velocity
Which one will have higher momentum? '
(iv) Write scientific name of buffaloes. saaday
(v) What is the audible range of human ear? E

(vi) Write any one method of crop protection management
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5 PES AT B P < qonnd ff
Write any two properties of colloidal solution. o
. . Siqar/OR :
wAAT SR fawanft o & @i &) s faRag |
Write any two differences between homogeneous and heterogeneous
solutions.
g7 FrafaRed aoee @ afead gord § aRaffa P -
(i) 25°C (i) 100°C
Convert the following temperatures to the Kelvin scale -
() 25°C (i) 100°C
a1/ OR |
Iedure fod ed 87
What is sublimation?
qs frefaRen dfte @ am faRag -

(i)  Al2(SO4)3 (i) CaCle
Write the names of following compounds -

(i)  Al(SOs)s (i) CaClz
ugar/OR

s g &l forfau |

Write Law of Conservation of Mass.

Waﬂ?;ﬁf%mmrqaﬁfﬁfmﬁ&ﬁﬁ

Write distribution of electrons in carbon and sodium atoms.
Al / OR
goge N e[ @ @it @ A g |

on and neutron.

99

Write the names of discoverer of electr

9.10 a@ﬁﬂ‘?aﬁmﬂﬁl

Why are lysosomes known as suicide bags?

aerar/OR
Wﬁﬁmsﬁ?m@aﬁﬁﬂﬁiﬁﬁﬁﬁﬁ?%ﬁﬂm

oYt @al FEd &7 carges,

Write any two differences between Plant cell and Animal cell.
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H.11

H.12

.13

Y.14

915

R 1 TS R aed |
Draw a labelled diagram of neuron.
37 /OR - pake
W B A S ey :
Write any two functions of stomata.
I 3 ) afr R
Write definition of average velocity. -
Y9G/ 0OR
TR &1 gfm farfa |
Write definition of acceleration.
UF WH g5 iy e g 20
- What is uniform circylar motion?
=491/ OR
Al a1 @l r e I JABR H 3

A IR QN ¢ @ S
E‘Tﬂﬂvﬁ?ﬁwqﬁaﬁ?mﬁwm .

If a Person covers two rounds of circular ground of r radius. Write the
distance ang displ_acement covered by him,
Eﬁﬁaaﬁa@ﬁﬁhﬁwq\a@wm&ﬁmaﬁﬁ?

Why do dust particles come out when carpet is beaten with a stick?

Jar/OR
nﬁmfﬁmﬁw%ﬁml -

Write Third Law of Motion.
MBS F1 Rz forRag |

Write the Archimedes’ principle.

$9a1/0OR
m%mﬁ%?mm%m

What is pressure? Write its unit.

%16 WHR IR B <) Sua frfan
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Write two uses of SONAR device, T
JYar/OR .
IO B B I @ & U frRay |

Write any two methods to reduce reverberation.
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Jq7 TP BT T 8? Samewor fofay

What is mixed cropping? Give example;," 'y ﬁ;
¥erar/OR '

“%Wfﬁ‘%wgaamﬁmmwaﬁmwmaw

forfag |

f’
What are the desirable characters of bee varieties suitable for honey

production? Write any two.
518 ffeafaa @1 awa, dife ik fasor § affipa S
Classify the following into elements, compounds and mixtures -
Sodium, soil, sugar solution, silver, calcium carbonate, methane
erar/OR
frefafan @1 s v warfe gRadHl # arffga P —
(a) USi B Il (b) ™I &1 urEd (c) g # G o
(d) T H a® (e) dml % gfg (fy Aa B STAT
Classify the following as physical & chemical changes -
(a) Cutting of trees (b) Digestion of food (c) Rusting of iron
(d) Freezing of water (e) Growth of plants  (f) Burning of candles
q19 & Fenel a1 R @ GRAY] Higed &1 AHifhd fHa I
Draw a labelled diagram of Bohr's Model of an atom with three sheils.
agar/OR
wERenfAml & B drF sguan fafey |
Write any three applications of isotopes.
Y20 UF YS! WIAA ¥ UHEEAE 0 F gl URY HId ¢ 10 min. 13[
40 km ufd gver @ el W BT 8 | SHSBT x0T S BIfTT |
A train starting from railway station with a uniform acceleration attains a
speed of 40 km per hour in 10 minutes. Find its acceleration.

ggar/OR
T g 16m P g4 4s H T P 8 TAT T 16m B g 25 § T Bl
2| axg @ 3itaq =l Far gnire
An object travels 16m in 4s and then another 16m in 2s. What is the
average speed of the object?
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W21

.22

Frfoias et 4 frepm aeal & M frRag —

(i) TEISA AEES (i) AR TreeR |

Write the names of elements present in the following compounds -
(i)  Hydrogen Bromide (i) Baking powder

7 JEar/OR N
(@) CHa (b) HgO () He (d) O
Calculate the molecular mass of the following compounds -
(@) CHs (b) H:0 () He (d) O2

Prafefed & wm fafay -
() &TF S g & N R 70T 2
(i AR ¥ Reg FHae | |
(ii)) et I wfed HuSh waw |
(iv) S0 S IR A a9 &7 Gag Far 2
Name the following - -
(i) Tissue that forms the i mner ining of our mouth
(i) Tissue present in the brain.
(i)  Connective tissue with a fluid matrix.
(iv) Tissue that stores fat in our body.
7 3Ear/OR
Ot @ WY SR Gfed S ¥ v fafay |
Write differences between simple and complex tissues of plants.

y15kgﬂmﬂmaﬁwaﬂﬁ4m/szﬁwwawﬁﬂfaﬂﬁa%|m§aﬁm

Soll G BT |

An object of mass 15kg is moving with uniform velocity of 4m/s. Find

out its kinetic energy.

3rEr/0R

10kg =AM B Th 9% B o=l § 6m B FUE 9% Iowy W 2| 3@

aeg § fAerm St &1 aRee S| g @1 79 9.8 ms? ¥

Find out the energy possessed by an object of mass 10kg when it is at

a height of 6m above the ground. Given g = 9.8 ms™2,

@)

(@)

e

(4)
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